

## Ocean County Board of Commissioners

OFFICE OF THE OCEAN COUNTY COMMISSIONERS

**Director Barbara Jo Crea Deputy Director Gary Quinn** Commissioner Virginia E. Haines Commissioner John P. Kelly Commissioner Frank Sadeghi

101 Hooper Avenue Toms River, New Jersey 08754-2191 (732)929-2005 (732)505-1918

## **Board Meeting Agenda**

Date: November 20, 2024 - 4:00 PM

Location: Administration Building

Room 119

101 Hooper Avenue Toms River, NJ 08754

Agenda: Awarding a Contract for the furnishing and delivery of TIRE RETREADING SERVICES to Inter City Tire & Auto Center, Inc., the lowest qualified bidder. (B2024-166)

Official Resoluti	2024001733								
Meeting Date	11/20/2024								
Introduced Date			1	1/2	20/2	024	4		
Adopted Date			1	1/2	20/2	024	4		
Agenda Item	j.	-2							
CAF#	Γ								
Purchase Req. #	B2024-166								
Result			Adopted						
COUNTY COMMISSIONER	PRES.	ABS.		MOVE	SEC	AYE	NAY	ABST.	
Crea	~					~			
Quinn	~				~	~			
Haines	~			~		~			
Kelly	~					~			
Sadeghi	~					~			

I HEREBY CERTIFY THAT THIS DOCUMENT IS A TRUE, COMPLETE AND ACCURATE COPY OF THIS RESOLUTION, ADOPTED BY OCEAN COUNTY BOARD OF COMMISSIONERS, NJ AT THE MEETING REFERENCED THEREON

> Michelle 1. Gunther Clerk Of The Board

CONTRACT NO. MUST BE ON ALL PAPERS, DOCUMENTS, INVOICES, VOUCHERS B2024-166

## RESOLUTION

November 20, 2024

WHEREAS, on October 1, 2024, pursuant to legal advertisements therefor, sealed bids were received for the furnishing and delivery of TIRE RETREADING SERVICES for the County of Ocean; and

WHEREAS, at the advertised time, responses were received from the following bidders:

Name and Address of Bidder

Inter City Tire & Auto Center, Inc. 777 Dowd Avenue Elizabeth, NJ 07201 (908) 354-1200

Custom Bandag, Inc. 401 East Linden Avenue Linden, NJ 07036 (908) 862-2400 Ext: 117

Name and Address of Bidder

Bergey's Truck Centers 5 Crossroads Drive Trenton, NJ 08691 (609) 586-3333

Service Tire Truck Centers 2255 Avenue A Bethlehem, PA 18017 (908) 561-8473

; and

WHEREAS, after the receipt and examination of same, the County Purchasing Agent has now recommended to this Board that the lowest qualified bid, according to specifications, be accepted, namely that of INTER CITY TIRE & AUTO CENTER, INC.

NOW, THEREFORE, BE IT RESOLVED by the BOARD OF COMMISSIONERS of the COUNTY OF OCEAN, STATE OF NEW JERSEY, as follows:

1. The Director and Clerk of this Board are hereby authorized and directed to enter into a contract accepting the bid for the furnishing and delivery of Tire Retreading Services for the County of Ocean, for the contract period from date of award through November 19, 2025, a period of one (1) year, OR until delivery is complete unless otherwise stated. The County reserves the right to extend the term of the contract pursuant to N.J.S.A. 40A:11-15.

A. <u>INTER CITY TIRE & AUTO CENTER, INC</u> for thirty-three (33) items, to wit: ITEM NOS. 1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12, 13, 14, 15, 16, 17, 18, 19, 20, 21, 22, 23, 24, 25, 26, 27, 28, 29, 30, 31, 32 and 33.

For a Total Lump Sum Award (Item Nos. 1 - 33) of \$131,405.00.

This vendor has extended this contract to County Cooperative Contract System Participants, Identifier No. CK-02-OC.

Introduced on: Adopted on: Official Resolution#: 2024001733

November 20, 2024 November 20, 2024 **BID AWARD RESOLUTION** 

PAGE 2

**NOVEMBER 20, 2024** 

- 2. Payments for the services to be acquired by this contract shall be made upon the approval of vouchers submitted by the successful bidders in accordance with the requirements of the Board of Commissioners and subject to the Board of Commissioners customary procedures. Delivery shall be made upon receipt of a Purchase Order issued by the Ocean County Department of Purchase, upon which delivery locations and needed quantities shall be indicated.
- 3. Funds for services shall be available within the following funding Source: Vehicle Services O.E.
- 4. The contract number must be placed on all papers, documents, invoices and vouchers pertaining to said contract, the number being B2024-166.
- 5. BE IT FURTHER RESOLVED that certified copies of this Resolution shall be made available to the County Auditor, Department of Purchasing, Department of Finance, Vehicle Services and Inter City Tire & Auto Service, Inc., the successful bidder.

Introduced on: Adopted on: Official Resolution#: 2024001733 Bidder also understands that only one (1) bid submission shall be considered. Please DO NOT Submit a manual bid response. Submitting a manual response in addition to the electronic response is cause for rejection of your bid.

Confirmed

## PRICE TABLES TIRE RETREADING SERVICES

	Lii	ne Item	Description	Quantity	Unit of Measure	Unit Cost	Tota!	No Bid	Mfg Process:	Tread Design:	Tread Depth (in 32nds):	Cure Temperature (Degrees Fahrenheit):	Comments:
	BDL	Retread o	r Equal	2	a 2		<u>, = 1.</u>		2		÷		
/		1	225/70R 19.5 Tire Size	75	EA	\$105.00	\$7,875.00		Continental CLC	VT120L	21/32	215	
/		2	245/70R 19.5 Tire Size	, 5	EA	\$114.00	\$570.00		Continental CLC	VT120L	21/32	215	
/		3	265/70R 19.5 Tire Size	5	EA	\$25.00	\$125.00		Continental CLC	VT120L	21/32	215	
	BDN	1 Retread,	or Equal			7-		×					
✓		4	11 R 22.5 Tire Size	.10	EA	\$165.00	\$1,650.00		Continental CLC	VT830	26/32	215	
V		5	11 R 24.5 Tire Size	15	EA	\$165.00	\$2,475.00		Continental CLC	VT830	26/32	215	
V		6	305/70R16.5 Tire Size:	5	EA	\$80.00	\$400.00		Continental CLC	VT830	26/32	215	14.

Introduced on:

November 20, 2024

Adopted Onica CITY TNOYEMBER 20, 2024 Official Resolution#: 2024007733 Bid - TIRE RETREADING SERVICES SELOCUMENT REPORT

Page 7

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Mfg Process:	Tread Design:	Tread Depth (in 32nds):	Cure Temperature (Degrees Fahrenheit):	Comments:
/	7.	355/70R17.5 Tire Size	5	EA	\$80.00	\$400.00		Continental CLC	VT830	26/32	215	
BDC Retread, or Equal												
<b>/</b>	8	305/70R16.5 Tire Size	5	EA	\$90.00	\$450.00		Continental CLC	VT500	26/32	215	
V	9	355/70R17.5 Tire Size	5	EA	\$90.00	\$450.00		Continental CLC	VT500	26/32	215	
	BTL-SA Retread, or Equal											
/	10	255/70R22.5 Tire Size	20	EA	\$119.00	\$2,380.00		Continental CLC	V159	17/32	215	
1	11	265/75R22.5 Tire Size	5	EA	\$70.00	\$350.00	,	Continental CLC	V159	17/32	215	
V	12	11R22.5 Tire Size	5	EA	\$135.00	\$675.00		Continental CLC	V159	17/32	215	
V	13	11R24.5 Tire Size	5	EA	\$140.00	\$700.00		Continental CLC	V159	17/32	215	, <sup></sup>
	BRSS Retread	, or Equal		*								
/	14	11 R 22.5 Tire Size	150	EA	\$157.00	\$23,550.00		Continental CLC	DV-UM3B	19/32	215	
<b>√</b>	15	11 R 24.5 Tire Size	150	EA	\$162.00	\$24,300.00		Continental CLC	DV-UM3B	19/32	215	
<b>'</b>	16	12 R 22.5 Tire Size	5	EA	\$154.00	\$770.00		Continental CLC	DV-UM3B	19/32	215	-,

Introduced on: November 20, 2024

Adopted INITER CITY THEY RESPONSE BOCUMENT REPORT Official Resolution REPORT SERVICES

ti	ine Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Mfg Process:	Tread Design:	Tread Depth (in 32nds):	Cure Temperature (Degrees Fahrenheit):	Comments:
	17	12 R 24.5 Tire Size	5	EA	\$163.00	\$815.00		Continental CLC	DV-UM3B	19/32	215	
Pred	cure C1040	E3/L3 Retread,	or Equal			,				h. 1.		
	18	20.5 Tire Size	5	EA	\$1,195.00	\$5,975.00		н&н	Continuum	39/32	270	
	19	23.5 Tire Size	5	EA	\$1,749.00	\$8,745.00		н&н	Continuum	42/32	270	
	20	26.5 Tire Size	5	EA	\$2,095.00	\$10,475.00		Н&Н	Continuum	47/32	270	
REP	AIRS WITH	RETREADING				1		<u> </u>	<u> </u>	<u> </u>		
	21	AP Nailhole Repair	150	EA	\$11.00	\$1,650.00						Ü 33
	22	Section Repair	200	EA	\$14.00	\$2,800.00						
	23	Section Repair - Off the Road Vehicles	20	EA	\$175.00	\$3,500.00						
SER	VICES WITI	H RETREADING						<u>-  </u>	8	L		
	24	Mounting Tire Fee	250	EA	\$9.50	\$2,375.00						a p
7	25	Mounting Tire Fee - Off the Road Vehicles	10	EA	\$35.00	\$350.00						
uced	26	Dismounting Tire Fee	400	EA	\$0.00	\$0.00						no charge

Adopte (INTER CITY TINE) RESPONS 1230 CUMENT REPORT Official BESON TREPORT SERVICES

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Mfg Process:	Tread Design:	Fread Depth (in 32nds):	Cure Temperature (Degrees Fahrenheit):	Comments:	
/	27	Dismounting Tire Fee - Off the Road Vehicles	25	EA	\$34.00	\$850.00							* #
V	28	Valve Stems - Medium Commercial (Dill or Schraeder ONLY)	400	ĒA	\$3.25	\$1,300.00							
V	29	Valve Stems - Off the Road Vehicles	50	EA	\$12.00	\$600.00							e e
/	30	Rim Refurbishing	500	EA	\$33.00	\$16,500.00							
J	31	Rim Refurbishing - Off the Road Vehicles	. 20	EA	\$55.00	\$1,100.00				ř			÷
V	32	Scrap Tire Fee	300	EA	\$10.00	\$3,000.00							
V	33	Scrap Tire Fee - Off the Road Vehicles	50	EA	\$85.00	\$4,250.00							
	TOTAL					\$131,405.00				. •	•		ė